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TnfJlvJln%l  :

d

0

c

/

K

//’
/

MC

P = AR = EiR

qaonw :
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InfJnIPRfilafl; :

uuuaunimil7,

II = R - C

II = P.q - C(q)

an-
0

do n.q =

C&J

II d (P-q)= - dC(q)
4 dq dq

P - C’(q) = 0
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n% P * c' (9)

P = MC

n - 1 aiu7uK7uLh

Hessian Determinant hwn  n - m - 1 - 0dh hmnwfiu

=I qn

cm h+l

lHil

1 - lq = lJ$q 1

I II
w

d f? - c’(q))  :

Lz - dq
p + P(q)
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lH,I + ( - l>’

n% I”11 < 0

n% - c”(4) < 0 : ttnu& P,I

- l fpmon c�(S) > 0

c”(S) - dc’ (4)
G

P - M C
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c - q3 - 12q
2 + 419  + 8

l  ) uuumn~7 thurw

Pfaximize YC E R, - C

w 2oq  - (s3 - 12q2  + 419  + 8)

P 2oq - q3 + 12q2 - 41q - 8

n%

@i&l

dIfdy = 11 9 -8 20 - 392  + 24q - 4 1 = 0

- 3q2 + 24q - 21 = 0

. c-3 -I-  3)Cq - 7)

4

= 0

= 1.7
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ml nnmu t&~ilullur;l?nqa

Second - O r d e r  C o n d i t i o n  :  ~muni~Rwmn Hessian Deterltinant

&unnmu  Hessian Determinant nernsl-O L t tin

- 6(l) + 24

18 ’ 0

- 6(7) + 24
/

-18c  0

n = -q3 + 12q2 - 21q - 8 t

) unuX7 9 = 7 : n = -(7)‘3  + 12(7)2 - 21(?)  - 6

P 90 rru’w L3UR11
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C

0

-a

1

20

-

0

/

/

\

0F1

18,-a)

1,201

\I/4.7)

7

,901

\

MC

I.

\

q

I I

(7,201
P=AR=MR

--q *
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uuuaun77nil7  .

Jl  I R - C
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k3ximize II  P (PI41 + P.fl2 + * * * + P”qJ  -%1,,9*.  .’ a 9”)

F i r s t  - O r d e r  Con&ion :

a n
- _
aql

a n
Gz =

n2  zc Pa-C2 =

an- -
aq3

n3 = Pj - CT =

an =
Gn “n =

ua::
(i)
G.

P -c =
” ”

pi 1-c. =

P. . =
1:

Pi =

P

0 - - - -  ( 1 )

0 - - - -  ( 2 )

0 ----... ( 3 )

0 -*_---. (n)

0

C i
----- ( * )

C-i .-----  (**)

‘i
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lnud 5 -
3C (I = 1, 2,...,  n )

a pi

Inud  ifessian Determinant qnd  i ‘In 7 ka

do m-0

(- l)m+i

(- l)D+i

( -  l)i

n11 1112  . . .

7121 1722 . . .

. .
* .

“ i l ni2 . . .
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SW%  Hessian Determinant qndnduNo

IH,l  - nil

n%
w

- Cl1

Xessian  Determinant qndaod~

I n11

b21  -
n21

-C
11

P

-c21

-C
1 2

-c22

lH21  + (- 112
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h%I I -C11 -52

I%( =
5 - c

22

LLvi

I
Cl lC22* - C12c21

I
CllC22 - (cl2)2 : Young’s Theorem Cl2 = C21

CllC22 - (cl2)2  > 0 &mnnnilqui  (tihrum)

(Cl21 2 ’ 0 rauoll;i, 52 9zlJl”nilH~a~a”“il~lJfJ

L&&1& cllc22  ’ O

ttX9ln”l1k1Nl b$i *VW?1 c11  > O

#i& *
c22 ’ O RIY
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‘Ihi  :

77nT-w;  :

PI  =

P2 =

30

15
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c =
2 2

a1 + 4192 + 2q2

Maximize 11 = R - C

I 304,  + 15q2 - (2qf  + q1(12  + 2q$

P 3oq1  + 15q2 - 2q;  -
2

q1qg - a2

an  zc n,

aql
- 30 - 4q1 - q2 = 0 --------- (1)

= 15 - q1 - 4q2 = 0 ------___ (2)

ml nmaour&fUiu'uRi%rp

Second - Order Condition : Inun~~fi~~~rnl Ressian Determinant hi

Hessian Determi‘nant  dx&~wnanu “-m=2-0  - 2 slfl
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lta:: P,I

IHo  + 11 =

b’  1 =0 + 2

Hll

- 4

“11

n21

- 4

- 1

1 5

< 0.

1’3  2

” 22

- 1

- 4

> 0

IH,l

IH,I
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wPmA&wfhdaou  b nGdJu&  uars~l&il7n”uih  Obo nu’w t&~mi

(R = 240 ttar  C = 120)

GC)U

n. qaunlwuouo\l~ni~wSI~~uaaln~nn~~tt~u~u~nu~~au~~~

(Decision of the  Firm in Honopolistlc  Competion Market)

Pi = Phi) : Uu~iwiind  i In 7

n~xt&uSuTnu’l;au~~~  (One Product Firm in Monopolistic  Competitiun)
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